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QID : 1 - Complete the sentence using appropriate option.
Which tense is used to express general truths and facts?
Options:

1) Present continuous tense

2) Present perfect tense

3) Past perfect tense
4) Present indefinite tense

Correct Answer: 4) Present indefinite tense

Candidate Answer: 2) Present perfect tense

QID : 2 - Complete the sentence using appropriate option.
The thief and the eye-witness..........

Options:

1) has escaped

2) has been escaping

3) was escaping
4) have escaped

Correct Answer: 4) have escaped

Candidate Answer: 1) has escaped

QID : 3 - Complete the sentence using appropriate option.

You and I........... the obligations.
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Options:
1) am fulfilled
2) has been fulfilling

3) have fulfilled
4) has fulfilled

Correct Answer: 3) have fulfilled

Candidate Answer: 1) am fulfilled

QID : 4 - Identify the tense used in the sentence.

"While he was in the military, he still regularly wrote to me."
Options:

1) Past indefinite tense

2) Past perfect tense

3) Present indefinite
4) Past perfect continuous tense

Correct Answer: 1) Past indefinite tense

Candidate Answer: 1) Past indefinite tense

QID : 5 - Identify the tense used in the given sentence.
"Welcome to the ceremony."

Options:

1) present perfect tense

2) present indefinite tense

3) past indefinite tense
4) past perfect tense

Correct Answer: 2) present indefinite tense

Candidate Answer: 1) present perfect tense

QID : 6 - Select the most appropriate option to change the sentence from direct speech to indirect
speech

" took Rahul to office with me", he said.
He said (that) he ................... Rahul to office ...........




Options:
1) Has to take/ with me
2) had to take/with him

3) had took/with me
4) had taken/with him.

Correct Answer: 4) had taken/with him.

Candidate Answer: 2) had to take/with him

QID : 7 - Select the most appropriate option to change the sentence from direct speech to indirect
speech

‘Sheeba is very kind to animals”, said Leena.
Leena....... that Sheeba was very kind to animals.

Options:
1) Tells her
2) Says her

3) Toldus
4) Asked them

Correct Answer: 3) Told us

Candidate Answer: 4) Asked them

QID : 8 - Select the most appropriate option to change the sentence from direct speech to indirect
speech

"l am living in London now", he said.
He said that........living in London then.

Options:

1) l was

2) Hewas

3) Shewas
4) They were

Correct Answer: 2) Hewas

Candidate Answer: 1) | was

QID : 9 - Adar : = iy 71q s & wl/qaw IugeR IR 1ot [Aehed ol gAY U: UgdT UiaH & fog
39T g foh-




Options:
1) hael &g {TST G4 ol HTgId 81
2) =R I AT GrA-aiter aht et

3) 1&g HTST < 3refguf iR e Tt gAA-ue @t et
4) TT¢ 31 T T Her H g Sy

Correct Answer: 3) 1&g 1T <l 31fyuf 3R ek At G-ue i At

Candidate Answer: 3) &g {TNT chl AYUT 3R Ak Tl o=-Ue &l fAet

QID : 10 - U g & e H -1 sy IJugerd «77dT 872
Options:

1) SgHI & 9a1E giHT 31T gl

2) g H YBSATT ST ST B

3) g H [ {TVT gHT AT B
4) THgt | HUTh Hl gHT AT g

Correct Answer: 4) gl & hUT-eh ol gHT 3MTTH 8

Candidate Answer: 4) &g & U hl gHT MTATH 8

QID : 11 - U3: Teh TN oh 37eATYH i F<al A

Options:

1) o1 Rigial H gust AeRia Fa W 5 21 =1l

2) SATeiehTIReh HTT-TINT <hl THET AR &d et UR It &1 A1ieq
3) fafaey deut & wTwT-uahT i erar faenRid e R & &1 91fgq
4) 5 FTT-UINT I &FaT faafd s iR 97 &1 =gy

Correct Answer: 3) fafder dguf & wror-uah 6t emrar fAefla & R e 31 =1fldy

Candidate Answer: 3) fafdy Tl & TT-UaRT 6t emar faawffd o IR 9 &1 918y

QID : 12 - = mur gt fawai & 78I
Options:

1) vg

2) srerat

3)Fa

4) URH

Correct Answer: 3) &g




Candidate Answer: 3) &g

QID : 13 - I=a T TR TR 9T HRg-fAa™ &1 Ueh 38T 6 -

Options:

1) T &Y e wd ue faerai it w@Ar

2) gt roT & 7y sfagre & R | ST

3) AT i FHEG Uepfd hl Ugar 3fiR ST fAAwoT st

4) =greRvol o gt fAaT ot dhae e

Correct Answer: 3) TST &l Faerg Uepfd &ht Uga™ 3R ITHT faeiwor st

Candidate Answer: 2) &< wTaT & I57 3fagr™ & IR & ST

QID : 14 - AT - = iRy g usAf & forg ga& 3R faehey o1 9g7 Hifsig
a8 O IR & $© el WY, 349 Hed &

Options:

1) BT

2) o

3) fomram

4) 579 @ g T

Correct Answer: 1) 320

Candidate Answer: 1) 38T

QID : 15 - ‘3w’ 2reg 8-
Options:

1) d9H

2) dg ¥4

3) &

4) fergarst

Correct Answer: 1) d&@H

Candidate Answer: 1) d&H




QID : 16 - A3t & G T i, TR FATT TR A i
AT ht THEA &, fiwor iy s=m @t

AT §RAATYR 31T, UTEd T UM ATY

& I SR Y S7TT &Y, TR 39H ot I arenm gt

@t 2 & had g I, @1 U Rl qETH

g4 el @it & @reH, ufe iR 1fd 7 318

gAY ag ot & 7 T, SMfts TSI 1 o 7 Gt
3¢ gR ol STe=t =T, STt T SiTed Jrem el

G A1 FST R BT 8, Uge fader R S g

ST I Y 8
Options:

1) A

2) wg=
3) Ag Hr =

4) Iugad g+t
Correct Answer: 4) Iudad It

Candidate Answer: 2) AJ9

QID : 17 - &5t &Y UG I Y, T&ch! GANT TR A ot
gate ot gHEA &Y, ot fRtay s Y

AT §RAATYR 31T, UTET T UM ATY

& =g oFR at ene &), R 55 ofY afe s gt

at 2 <Y haet ute U, @Y 31U Rt THH

&4 I8! G2ft & @Td, uRem W o1& 7 Iad

gty ag ot & 7 Fap1, Sfts TSI 1 o 7 Gt
3¢ gR ol STes TreT, STt T S1Ted Jrem el

el 1T HYST IR BT 8, gt fdeh 7R STl 81

IR | IuTT §:
Options:

1T

2) uR

3) s

4) g

Correct Answer: 2) TR

Candidate Answer: 2) uR




QID : 18 - 31t & AE T i, TR FATT TR A i
AT St THEA &, +fiwor [Aéay s=m @t

AT §IRAATYR 31T, UTEd T HeRM ATY

& T SR Y ST &Y, TR 39H oft I arenm gt

@t 2 & had g I, @1 U R qETH

g4 el @it & @re, ufke iR 1fd 7 318
gates ag ot & 7 I, SMfts FHIST 1 o 7 Gt
3¢ gR ol STe=t =T, STt T Srmed Jreq el

G A1 FST R BT 8, Uge fader R S g1

I T o &
Options:

1) s/t
2) 313
3) s
4) 39T%H

Correct Answer: 3) ST

Candidate Answer: 3) 3™

QID : 19 - &5t &Y UE I Y, T&h! GANT TR A ol
gate ot THEA &Y, ot gy s &Y

AT §RAATYR 31T, UTEd T UM ATY

& =g oFR at ene &), R 55 ofY afe s gt

at 2 <Y haet ute U, I@Y 31U Rt THH

&4 I8! G2ft & @1d, uRem W o1& 7 Iad

Aty ag +ff & 7 I, Sfts FHTST 1 o 7 Gt
3¢ gR ol STe= T7eT, STt T S1Ted Jreq et

el 1T HYST IR BIAT 8, gt fdeh 7R STl 81

"I <hT YT &:
Options:

1) 99

2) 3R
3) URATHT
4) gft

Correct Answer: 4) Tt

Candidate Answer: 4) Tft




QID : 20 - A3t & AE T Y, TR ATT TR A i
AT St THEA &, +fiwor [Aéay s=m @t

AT §IRAATYR 31T, UTEd T HeRM ATY

& T SR Y ST &Y, TR 39H oft I arenm gt

@t 2 & had g I, @1 U R qETH

g4 el @it & @re, ufke iR 1fd 7 318
gates ag ot & 7 I, SMfts FHIST 1 o 7 Gt
3¢ gR ol STe=t =T, STt T Srmed Jreq el

G A1 FST R BT 8, Uge fader R S g1

iepsor hgl MY 42

Options:

1) AT

2) gfETgR
3) ey
4) e

Correct Answer: 2) gRaATqR

Candidate Answer: 2) gfRaTqR

QID : 21 - &t &Y UG I Y, T&h! GANT TR A ol
ATl FHE &, fiwor [y s=m @t

AT §RAATYR 31T, UTEd T UM ATY

& =g oFR at ene &), R 55 ofY afe s gt

at 2 <Y haet ute U, I@Y 31U Rt THH

&4 I8! G2ft & @1d, uRem W o1& 7 Iad

Aty ag +ff & 7 I, Sfts FHTST 1 o 7 Gt
3¢ gR ol STe= T7eT, STt T S1Ted Jreq et

el 1T HYST IR BIAT 8, gt fdeh 7R STl 81

AT &1 37 B
Options:

1) T A&

2) a1 T

3) fFepe 1 AT
4) 378 IS T

Correct Answer: 1) gl &1

Candidate Answer: 1) Tg! Il




QID : 22 - f3ar : = iy 7T Srgede ot gt U 7Y UeHl & HEl/Iuger IR aTet fadhed al gAT |

R UTeT aga ey Al i gHaT & o &1 I8 gTerd # T8 +ff &ad § 1 G A1 1 e gAR
SUTHEHN], HET1-cI@ehi 3R HIGT TR ST FT 81 ST &1 H 370 Tid USTa & a1 el § | W UoTa 7 gar
hfagl Y T e Irfies caaar & fRAATE Sehettel! STos & Sia-Utd 81 398 YSeTaR, 1=, [TYUT bl geT
3R Qe 71 a1 S &l &1 1 775 81 8T, BH FTHITSIeh SIcelTd hl STvd ¢ 3R g ehfaarsii # ard af sgd
3T &1 I Tl T § WR 3R WY ¢4t a1 81 39 R uffH 1 y1a g1 yRum I8 & foh a8 IR Sohelld Teh
BI-T HITST IR HAT 3§ TTdT 8| 99, FifefAch THE [ dTet Toh BIc-9 g H 3! a1d gidT 81 fham,
TSTGR, STt AM90T Y it 7@ 8, 8 3 Sehetal Y IRUM &7 916 €, 3 58 T9T &1 181 Ut &1 59 91t A AT
GSITe # {3 e faafdenerd & e o der 9 o forg AnfAa fosar mam| sta g3t Igeh! ugett Hifén d
MRS g ok forg Femam ma, af & usie # g iR & UTd o171 Geh i 1 &t 3ra= amior S 9 umg
A gU T SFAER | g7 arett Hie Y Hifem A S et fSren fovar ot foreht = o, "gAR TT ot 19 g
(@) R o & gAR 91 € 5 e &), I8l Ye-g¢ Ue o e SETey s seint1* A7 §9d gY el
3TT 3R ITEd & df & U gt TaAT ST 1" It hlS GERT ST, "3 U1 o Bt o) dehd |

AT AT <hl T} gy’ & T ared 8?
Options:

1) A wfa St sreft g gar &

2) 3 gar whid forgie oie & fohan §
3) & ga1 wfa Sit 7Y fwat R fora @ €
faplRTuiRmiRioER e

Correct Answer: 4) 3 &fd it g fowai Rfer@ @ 8

Candidate Answer: 1) 3 &fd Sit sroft 7@ gar &

QID : 23 - fAar : fi= Ry 7T SrgedT ot gt OB 7Y UL & HEl/Iuger IR dTet fahed i giAT |

R UteT aga ey Al i gHaT & +ff &1 I8 gTed & T8 +ff &ad § 1 G Aifec a1 e gAR
SUTHEHN], HETI-cI@ehi 3R DT TR ST FT 81 ST §1 H 310 Tid USTa & a1 el § | W UoTa 7 gar
hfagl Y T e IrfSies caaear & EAATE Sehettell STos & Si-Uid 81 398 YSeTHR, 1=, [TYUT bl geT
3R Qe 71 a1 S &l a1d 1 775 81 8T, H FTHITSIeh SIcelTd hl STRd ¢ 3R g ehfaarsii # ard af sgd
3T &1 T gl T & UR 39ahT Wy T 781 &1 39 WR uffH &1 ura g1 uRRond g8 g foh a8 IR Sohetle Uah
BI-T HITST R HAT 3§ TTdT 8| 99, FifefAch THe [a- dTet Toh BIc-9 g A 3! 1d gidT 81 fham,
HoTgy, St 2MWoT Y St 3@ &, fO=8 & Sehotrar <l IROTT 31 T7ed &, 3 39 Twet & gl uTd &1 39 Iret A ArgfA
GSITe # {3 oAk faafdenerd & e o der 9 o forg AnfAa fosar man| Sta g3t Igeh! ugett Hifén d
MRS g ok forg Femam ma, af & usie & g idTR & UTd o171 Qb i 17 @t 3ra= amior Sl 9 umg
R §U T SFYAER H g7 arett Hie i Hifem & S et fSten fovar ot foReht = o, "gAR @1 ot 19 g
() ok e & 57 S &t o FAre &Y, et Te-ge et o TTea Ry SIS A EOt gU e,
37T 3R I1Ed & df & U gt TaAT ST 1" It hls GERT ST, "$1TY U1 o 6t o) dehd |

Options:

1) ™

2) YRR
3) Y
4) gegayn

[O)

Correct Answer: 3) Tg-TY




Candidate Answer: 2) YRR

QID : 24 - fAdsr : 2 Ry 71y srfeeie it uga U@ 7T At & Agl/Iugad 3©R dTet fdahed Y gy |

T UYeT Igd dey A1fgd i gfAar & oft 81 T8t gred | agl oft S § 1 gRda wnfecy a1 e gAR
SUTHHRY, HeT-1-c@en] R hiadl R 7€ gTell &1 STa1 ¢ 1 # 37U Uid USTTel ehl ST el § | AR Ut | gat
hfadl &Y T e IrfSies caaT & fRAATH Sehettell STos & Sfid-Utd 81 398 YSCTaR, 31T, [TYUT bl geT
3R Qe 7t cgeRAT S I 1d I TS 81 BT, BH ATHINSID IGalTd hl STRd g R 3 Shiadrsil & a1d af sIgd
3T &1 T gl T & UR 39ahT WU T 781 81 39 WR uffH &1 uora g1 uRRond I8 g foh a8 IR Shet e Uah
BIe-T TSl IR AT 3§ TTdT 8| 59, WifefAch THS @ dTet Uoh BIc-9 g A Sh! a1d gidt 81 fham,
ST, St 2T Y 3T 28 €, FIe8 & it ol OO 37 918 €, 3 39 THET & el UTd &1 39 Tt A A
GSITe # {3 oAk faafdenera & dHe o dex 9 & forg anfAa fowar man| sia g3t Igeh! ugedt Hifén d
MRS g ok folg Feman mam, af & usie # g iR & UTd o171 Geh f&e e &t 3ra= amior i & umg
R Y A SFYIER H g areft e <l M & S et sk foran ot foreht A evg, "g9R @1y &t 3y dgHe
() 3Rt # gAR <19 & 57 R &Y, T8T Ye-g¢ U I ATed TgIeR o STt |" A7 §9d gY hgl-"al,
37T 3R ITEd & df H U 8t TalT ST 1" It ehls GERT e, "31TY U1 o 61 Tg) Hehd |

‘i3 ol WY ¢t T §1" a1y & 1fAuTT 8-
Options:

1) pfansit & 1z ufgw @ genfaa 78t &)
2) st &t sifdeafs ofgw @ genfaa &1
3) hfaarsit a1 UM gfgH & ufad g1
4) pfdare 7 sreg uffw T ynfad &1

Correct Answer: 2) hiadrsii &t sif¥eafh afgs & wefaa g1

Candidate Answer: 2) ahfadTsii &t sifeeafs afgH & gfad g1

QID : 25 - fAdsar : 2 Ry 7Ty srgeeie it uga g8 7T At & Agl/Iugad 3©R dTet fdahed Y gy |

T UYeT Igd dey A1fgd i gfAar & oft 81 T8t gred | agl oft S § 1 gRda wnfecy a1 e gAR
SUTHHNRY, HeT-1-c@en] R hiadl IR 7€ gTell g1 STa1 &1 # 37U Uid USTTel ehl a7 el § | AR Ut | gat
gl &Y T Tty GrTfoien caaT & AT SehetTall STos & Siid-Utd &1 398 YSCTHR, 1=, [TYUT bl geT
3R Qe 7t cgeRAT S i 1d I TS 81 BT, BH ATHINSI IGalTd hl STHRd g IR 3 Shiadrsil & a1d af sIgd
3T &1 T gl T § UR 39ahT WU T 781 81 39 WR uffH &1 uora g1 uRRond g8 g foh a8 IR Shelle Uah
BIe-T TSl IR AT 3§ TTdT 8| 99, UifefAch THS A dTet Uoh BIc-9 g A Sh! a1d gidt 81 fham,
HSTGR, ST *MW0T Y ¥t 3@ 8, I8 3 SehetTal ShY RN &1 916l &, 3 59 T9T 61 181 UTd & | §9 91t A AT
USITE A 3t &1 faafdenera & die &1 9ex = o forg a1fad forar mam sia g8t Saeht ugett #ifn &
MR g1 ok forg Feman mam, af & usie 7 g fia TR & U o071 Geh f&e e &t 3ra= amior gl & usmg
R Y A SFYAER H g areft e <l Mifd & S et sk foran ot forelt A evg, "g9R @1y &t 3y dgHe
() 3Rt # gAR <19 & 37 O &Y, T8T Y-g¢ U I ATed TgIe § STt " A7 §9d gY hal-"al,
37T 3R ITEd & df H U &t TalT ST 1" It ehls GERT T, "31TY U1 o 61 Tg) Hehd |

SEE o TR WR Fa15Y fh fhmanT Mwor gt 28T 81




Options:

1) it SR ASIg o
2) il 3R oaehl &l
3) foramT 3R Hoigd
4) foramT SR il ot

Correct Answer: 2) Hfadt 3fR d@el &t

Candidate Answer: 2) afadl SR Raahl a1

QID : 26 - fR&ar : = fiY 7T SrgedT Y gt OB 7Y UL & Hel/Iuger IR dTet fahed dl gAT |

R UTeT aga ey Alfec di a1 & ot &1 I8 gTerd # I8 +ff &ad § 1 I Aifecd a1 e gAR
SUITHHNR], HET1-cI@ehi 3R DT TR ST FT 81 ST §1 H S0 Tid USTa & a1 el § | W UoTa 7 gar
Hfagl Y T e IrfSies caaear & fEAATE Sehettell STos & Sia-Utd 81 398 YSeTaR, 1=, [TYUT bl geT
3R Qe 71 cgeAT S &l 91 1 775 81 8T, §H GTHIISIeh SIaelTd hl STRd ¢ 3R g ehfaarsii # ard af sgd
3T &1 T gl T & UR 39ahT Wy <1 781 &1 39 WR uffH &1 ura g1 uRRond g8 g foh a8 IR Shelle Uah
BIe-T HITST IR HAT 3§ FTdT 8| 99, Fifefdch THE [ dTet Toh BIc-9 g A 3! a1d gidT 81 fham,
TSTGR, STt MW0T Y it 7@ 8, I8 3 Sehetal Y IRUM &1 916 €, 3 58 T &1 181 Ut &1 59 91t A AT
GSTTe # {3 oAk fasafdenerd & e o dexd 9 o forg AnfAa fosar mam| Sta g3t Igeh! ugett Hifén #
MRS g ok forg Femam ma, af & usie # g iR & UTd o171 Qb i 17 aht 31a= amior gl 9 9mg
R §U A SFYAER H g1 arett Hive i Hifem & S et fSten forar ot foReht = o, "gAR @1 ot 19 g
() ok e & 5o S & o FAre &Y, et Te-ge et o TTea BTGy & STSi " A E0t gU e,
37T 3R I1Ed & df & U gt TaAT ST 1" It hlS GERT ST, "31TY U1 o 6t ATg) dehd |

STE % ATYR WR FdA15Y {6 USTIe Tidt & ST TrHm=ad: o Ugd &
Options:

1) -t

2) Faf sk e

3) g

4) Fdf-ursrHT

Correct Answer: 1) Fdf-gjift

Candidate Answer: 1) gdf-ift




QID : 27 - fRar : = iy 7T Srgede ot gt U 7Y UeHl & HEl/Iuger IR aTet fadhed al 9T |

R YT Sgd ey Aifgd & gfAar & ot 81 Tt gretrd & gl oft et § 1 gAdg ifged @l e gaR
SUTHHN], HET1-cI@ehi 3R DT TR ST FT 81 ST &1 H 370 Uid YT & a1 el § | W UoTa 7 gar
fagl Y T e IS caaar & fEAATE Sehettell STos & Sid-Uid 81 398 YSeTaR, 31T, [TYUT bl geT
3R Qe 71 cgeAT S &l &1 1 775 81 8T, BH GTHITSIeh SIeelTd el STRd g 3R g ehfaarsii & ard af sgd
I &1 I el T § R 31 WY ¢4t a1 81 39 R uffH &1 y91a g1 yRumH I8 & foh a8 IR Sohelld Teh
BI-T HITST IR HAT 3§ FTdT 8| 99, Uifefdch THE [ aTet Uoh BIe-9 g H 3! 1d gidt 1 fham,
TSTGR, STt AMW0T Y i 72 8, I8 3 Sehetar Y IROM &1 916 €, 3 58 T 61 181 Ut 1 59 1t A AT
GSTTe # {3 oA fasafdenerd & e o der 91 & forg AnfAa fosar man| Sta g3t Igeh! ugett Hifén d
MRS g ok forg Femam ma, af & usie # g iR & UTd o171 Qb f&eT 17 @t 31a= amior gl 9 umg
T Y A SFYAER H g arelt e <l Mfé & S et sk forar ot forelt A avg, "g9R @1y &t 31y dgve
(@) 3R gt H gAR SIY &1 517 o &Y, a8l YI-g¢ UgH o HTgd TgTeR o T3 " A §9d §Y hel-"arl,
37T 3R ITE & df & U gt TaAT ST 1" It hlS GERT ST, "3 U1 o Bt g dehd |

T R AT g 9F & aread g-

Options:

1) S TR W ST ST
2) ST TR R AT 35T

3) ST TR WR T A 351
4) STHIHY TR R Feeltd 7 ST

Correct Answer: 2) STHIHT TR TR a1 35T

Candidate Answer: 4) STHHT TR WR FgaTa = 37T

QID : 28 - fAdar : fi= iy 7T SrgedT ot gt OB 7Y UeH & HEl/Iuger IR aTet fadhed i gAT |

R YT Sga ey Aifgcd & gfAar & ot 81 T8t gretrd & gl ot e g1 gAda wifged @l e gAR
SUITHHNR], THET1-cI@ehi 3R DT TR ST FT 81 ST &1 H S0 Hid YT & a1 el § | W UoT 7 gar
fagl Y T ey IS caaear & fEAATE Sehettell STos & Sia-Utd 81 398 YSeTHR, 1=, [TYUT bl geT
3R Qe 71 cgeAT S &l &1 1 775 81 8T, H GTHITSIeh SIeelTd ehl STRd ¢ 3R g ehfaarsii # ard af sgd
3T &1 T gl T & UR 39ahT Wy T 781 81 39 WR uffH &1 ura g1 uRRond 48 & foh a8 IR Sohelle Uah
BI-T HITST IR HAT 3§ TTdT 8| 99, FifefAch THE [ dTet Toh BIc-9 g A 3! a1d gidt 81 fham,
TSTGR, STt AMW0T Y it 7@ 8, 8 3 Sehetal Y IRUM &1 916 €, 3 58 T 61 181 Ut &1 59 1t A AT
GSTTe # {3 e fasafdenerd & e o derd 91 o forg AnfAa fosar man| Sta g3t Igeh! ugett Hifén d
MRS g ok forg Femam ma, af & usie # g iR & UTd o171 Geh i 17 @t 31a= amior Sl 9 umg
R Y A SFYAER H g areft e i M & S et sk fovar ot forelt A evg, "g9R @1y &t 31y dgHe
() 3R ot # gAR 519 & 37 O &Y, T8T Y-g¢ U e AT6d JgIg - STt " A7 §9d gY el
37T 3R ITE & df & U gt TaAT ST 1" It hlS GERT ST, "311Y U1 o 61 g dehd |

5T WR UfYH &1 U919 g 1" a1l &-
Options:

1) fAy=aras

2) UAdEsh

3) digarasd

4) HsYdrdeh

Correct Answer: 1) fuaraes




Candidate Answer: 4) IsgdrTch

QID : 29 - fAdsr : iR Ry 71y srgeeie it uga U@ 7T At & Agl/Iugad 3©R dTet fdahed Y gy |

R UteT aga ey Al Y gHa1 & o 81 I8t grera & T8l +ff e §1 It A1fecd a1 e gAR
SUTHHNRY, HeT1-ci@en] R hiadl IR S7e gTell g1 STa1 ¢ 1 # 37U Uid USTTel ehl a7 eheall § | AR Ut | gat
hfagl &t T e IrfSies caa=r & fRAATH Sehettell STos & Sfia-Utd 81 398 YSCTHR, 31T, [TYUT bl geT
3R Gep 7t cge=T S I 1d I TS 81 BT, BH ATHINSIh IGaTd hl STRd g IR 3 Shiadrsil & a1d af aIgd
3T &1 T gl T § UR 39hT WY <1 781 g1 39 WR uffH &1 ura g1 uRRond I8 g foh a8 IR Shetle Uah
BIe-T ITST TR AT 3§ TTdT 8| 99, WifefAch THE A dTet Uoh BIc-9 g A Sh! a1d gidt 81 fham,
HSTGR, ST *MW0T Y ¥t 7@ 8, I8 3 SehetTal ShY RN &1 916l &, 3 $9 T9T 61 181 UTd & | §9 91t A< AT
GSITe H {3 oA faafdenera & dHe o e 914 o forg anfAa fowar man| sia g3t Igeh ugedt Hifén d
MRS g ok forg Feman mam, af & usie # g1 fid R & UTd o171 Qb f&e e &t 3ra= amior i & umg
R Y A SFYIER H g areft e <l #ifd & S et sk foran ot forelt A evg, "g9R @1y &t 3y dgHe
() 3R ot # gAR <19 &1 37 O &Y, T8T Y-g¢ U I ATed JgIe o STt |" A7 §9d gY hal-"l,
37T 3R ITEd & dt H U &t TalT ST 1" It ehld GERT e, "1y U1 o 61 Tg) dehd |

‘refior, TrfSies, gar enfe ereg &
Options:

1) gaH
2) fasiwor
3) foman
4) I

Correct Answer: 2) fasiwor

Candidate Answer: 4) dall

QID : 30 - fAdsr : 2 Ry 71y srfeeie ot uga U@ 7T At & Agl/Iugad SR dTet fdahed Y gy |

R UIgT Igd ey Aifeed i gfar & off §1 7@ grena # agl oft S §1 @i Tifec 1 thee gER
SUTHHNRY, HeT1-ci@en] R hiadl IR 7€ gTell &1 STa1 ¢ 1 # 37U Uid USTTel ehl a7l el § | AR Ut | gat
gl &Y Tty GrTfoien g & AT SehetTell STos & Sfid-Utd &1 398 YSCTHR, 1=, [TYUT ehl geT
3R Gep 7t cHeRT S i a1d I TS 81 BT, BH ATHINSID IGalTd hl STERd g IR 3 Shiadrsil & a1d af aIgd
3T &1 T gl T § UR 39ahT WY <1 81 g1 39 IR uffH &1 e g1 uRRond g8 g foh a8 IR Shette Uah
BIe-T ATl R AT 3§ TTdT 8| 99, WifefAch THE A dTet Uoh BIc-9 g A Sh! a1d gidt 81 fham,
TSIGR, St 2MWOT Sl 3 35 &, o6 & SehetTal &t OROTT 3T 916 8, 3 38 G &1 161 UTd ¢ | 6 A1t 74 g
USTTE # 5t &1 faafdenea & die o1 9ex = o forg a1fad forar mam sia g3t Saeht ugett #ifn &
MR g1 o forg Feman mam, af & usie 7 g1 fid TR & urd o071 Geh f&e e &t 3ra= amior i & usmg
R §U A SAYAER H g1 arett Hie i Hifem & S et fStes fora at foreht = g, "gAR @1 o 19 g
() 3R ot # gAR <19 &1 37 R &Y, T8T Y-g¢ U I ATed JgIe § STt |" A7 §9d gY hgl-"al,
37T 3R ITEd & df U gt TalT ST 1" It ehld GERT e, "1y T o 61 Tg) dehd |

JEHS T N &




Options:
1) IR
2) gt
3) UTSITHT
4) it

Correct Answer: 4) it

Candidate Answer: 1) 3R

QID : 31 - A boy sold his bicycle for Rs.2400 and earned 20% profit. What was the original price
(the price without the profit) of the bicycle?

Uk A8k A 79T AT8fehat 2400 Fud H St 3R 20% T HATAT| TT5fohet hl JeT chidd (137 o foAT hivd)
T off?

Options:
1) Rs.1940
¥ 1940

2) Rs.1960
31960

3) Rs.1980
31980

4) Rs.2000
%2000

Correct Answer: 4) Rs.2000
%2000

Candidate Answer: 3) Rs.1980
31980

QID : 32 - What comes next in the sequence: 1,1,2,6,24, ____?
AR A M AT AT e: 1,1,2,6,24, _?

Options:

1) 110

2) 120

3) 130

4) 140

Correct Answer: 2) 120




Candidate Answer: 4) 140

QID : 33 - The cost of an article is Rs. 160. What should be the selling price in rupees to obtain a
profit of 15 percent?

Ueh I <hl Shid 160 T0A g1 15 UTARTd o1 AT UTed et oh foq ek Jea $Ud & ot g anfgg?
Options:

1) Rs.180
180 ¥0&
2) Rs.182
182 3ud
3)Rs.184
184 3udt
4) Rs.186
186 Iud

Correct Answer: 3) Rs.184
184 30

Candidate Answer: 1) Rs.180
180 30

QID : 34 - Aryan invested ¥ 5200 at 4 %, 6 % and 8 % per annum simple interest. At the end of the
year, he got the same interest in all the three cases, find the money invested at 4%.

3T A F 5200 ht 4%, 6% 3R 8% ufaery Tremror surst wR fAaer frari o & sig A, 39 i et § g9
=TT T, 4% WR fRaer fovar mar 4= 31 HifSigl

Options:

1) 2800
% 2800
2) 3000
3000
3) 2500
2500
4) 2400
2400

Correct Answer: 4) 2400
2400

Candidate Answer: 4) 2400
2400




QID : 35 - The LCM of two number is 4800 and their HCF is 160. If one number is 480, then the
second number is:

Y T3l ol STgaH THTaR 4800 & 3R 3T AgaH THTgat 160 g1 afe ueh Twer 480 §, at gudt I
&

Options:
1) 1200
2) 1500
3) 1600
4) 1800

Correct Answer: 3) 1600

Candidate Answer: 1) 1200

QID : 36 - Four digits of the number 29138576 are omitted so that the result is as large as
possible. The largest omitted digit is:

&1 29138576 o AR 3ieh geT T 1Y & dTfch IRUMH JURIYT 9871 8| 9a 981 BIST 74T 3iah &
Options:

15

2)6

3)7

4)8

Correct Answer: 1) 5

Candidate Answer: 4) 8




QID : 37 - Which of the following can sometimes be ‘zero’ for a moving body?

I. Average velocity
ii. Distance travelled
iii. Average speed
iv. Displacement

foreft nifarsfter ag o forg fmforaa & @ o= svit-areft 'S &Y Fepar 87
i. afted

ii . 73 g

iii. offga oifq

iv. oo

Options:

1) Only (i)
hered (i)

2) (i) and (ii)
(i) 3R (i)

3) (i) and (iv)
(i) 3R (iv)

4) Only (iv)
had (iv)

Correct Answer: 3) (i) and (iv)

(i) 3R (iv)

Candidate Answer: 4) Only (iv)
had (iv)

QID : 38 - We can distinguish between a man'’s voice and a woman'’s voice of the same loudness
even without seeing them. This is due to a characteristic of sound which measures the shrillness
of sounds. Can you choose the correct unit of the quantity on which this characteristic of sound
depends?

&H Uk 3N Y STaTST 3R Yeh A hl T 9T Simarst & i fomr 3@ oft ofar ae Tt 1 T afa i v
fLoaT & ShRUT & St eaf i fteuraT Sl ATIAT 81 SR ST AT hl el SIS 9 Uehd & ol WR @i i a8
fartwar ARk sreedt 82

Options:

1) hertz

gt

2) meter/second
Hiew/dehs

3) meter

Hrex

4) unitless

AR

Correct Answer: 1) hertz

gést




Candidate Answer: 1) hertz

]

X

QID : 39 - ‘APAAR’, which was seen in the news, is a registry associated with which field?

APAAR!, STt @sRl # 2t 77 ofY, fohg &= @ Geifdra g A0 82

Options:

1) Business
IR

2) Academics
fenfae

3) Sports

[CE]

4) Finance

o

Correct Answer: 2) Academics

fRremfae

Candidate Answer: 4) Finance

o

QID : 40 - Who among the following is the author of the “Divine Comedy”?
fafofea & @ oF 'fEargT amdl" & @@ §?
Options:

1) Goethe
Mo

2) Milton
e

3) Dante
gid

4) Shakespeare
AR

Correct Answer: 3) Dante

g

Candidate Answer: 3) Dante

i

QID : 41 - Who is the author of “Commodities and Capabilities”?




Options:

1) Amartya Sen

A a1

2) Dr. Raja Chelliah
1. ST detr

3) Dr. PC.Mehalonibis

1. oY <Aoo
4) Dr. C. Rangarajan

31 Ot IR

Correct Answer: 1) Amartya Sen

md I

Candidate Answer: 3) Dr. P.C.Mehalonibis
1. oY <t Agremifod

QID : 42 - In which Cricket World Cup edition, India won its first “Cricket World Cup Champion”
title?

forg fohdhe fay vy TeeroT |, WRA 7 31UAT UgaT "fehehe fasg epu dftam" fare shar?
Options:

1) 3rd
3

2) 4th
4

3) 5th
5at
4) 6th
6ar

Correct Answer: 1) 3rd
3

Candidate Answer: 1) 3rd
3

QID : 43 - Which of the following numbers is called Hardy—Ramanujan number or most famous
taxicab number?

ffafed 7 @ fha dwe ot grEi-ms T a1 Ted Ul ¢ail Shal ST hgl SITdT 872




Options:
1) 1729
2) 5436
3) 3878

4) 8787
Correct Answer: 1) 1729

Candidate Answer: 3) 3878

QID : 44 - As per Census 2011, which of the following is the most thickly populated state in India ?

2011 & FHTUHET & IR, Rfef@d # & ol 91 vRa # Gad o+ St aret 359 872
Options:

1) Bihar
[EEIN

2) West Bengal
gfge ame

3) Goa

Tt

4) Maharashtra
HERTY

Correct Answer: 1) Bihar

IEGN

Candidate Answer: 1) Bihar

IEEN

QID : 45 - After observing that students are struggling to proceed further on an ongoing activity, a
teacher decides to provide cues and hints in form of what, why, how. According to Lev Vygotsky's
theory, this strategy of teacher will

Ueh fafafd & SR, B @) Juy ohrd 34, Teh 31eaTfieh a<l ol Yohd 3R 3R S -'a41, 41, ' U
Y I YT oiclt 81 AT aRATIhT o fgid & SR, STeATfURT Sl Ig JerT -




Options:

1) demotivate the children to learn.

et o T 3 g SrEiRa / FrsiRa vt

2) act as a scaffold for learning.
3HfeTH & foIQ UTS / SMYURYA T el ehiH |
3) cause withdrawal tendency among students.
BHEl A UdgR / Aard gt dar st

4) be meaningless in process of learning.

feeTH <t ufehar H srefgi giift

Correct Answer: 2) act as a scaffold for learning.

ST o foTq UTS / SR ST T I |

Candidate Answer: 1) demotivate the children to learn.

=it aHfeT & forg SR / PR et

QID : 46 - The teacher gives clays of different colours to the children and asks them to make
whatever comes to their mind from that clay. Through this she wants to promote .............. In
children.

fr&res sl ot fafa=1 &t areft Faieht fAgh dam gt & ok S1ch A1 7 STt 31Ta 8, 98 IFT¢ | 39 ATH 9, I8
T o, o FeTaT &1 ATt 8l

Options:

1) Creativity
STTcHhdT

2) Rote memorisation
AT
3) Non-cooperation

ST
4) Indiscipline
SRMEB AT

Correct Answer: 1) Creativity

STATcHhdT

Candidate Answer: 1) Creativity

STTcHhdT




QID : 47 - The early primary years of childhood should focus on the development of
(i) physical skills

(i) social skills

(iii) cognitive capabilities

(iv) emotional skills

(v) abstract reasoning

T & URfAS Tredt A fohadh e W e shfeed o =gy 2

Options:
1) (i), (i)

2) (i) (i)

3) (i), (ii), (ii), (iv)

4) (i), (i), (iii), (iv), (v)

Correct Answer: 3) (i), (i), (i), (iv)

Candidate Answer: 3) (i), (i), (iii), (iv)

QID : 48 - Which one of the following options best describes progressive education?

Aafafea 3 @ sia-ar feey unfasfie e o ge9 st guiF =ar 22
Options:

1) Learning by doing, project method, cooperative learning
R o YReT, uRatsrr fAfd, agai @ damn

2) Thematic units, regular unit tests, ranking

e sahrsal, Faffa s wieror, I

3) Personalized learning, ability grouping, labelling students
4) Project method, ability grouping, ranking

Correct Answer: 1) Learning by doing, project method, cooperative learning

TR oh HigHT, uRaer fafd, aganT 9 e

Candidate Answer: 1) Learning by doing, project method, cooperative learning

R & GRa=r, uRaterr RfY, ggahr @ dre=n




QID : 49 - Children coming from socio-economically disadvantaged back-grounds need a
classroom environment which-

GraTTSTeh-3Tfefeh TU @ dieid qeaf & 31T aTet sl ehi el h HIgiel chl TTaGehdl Bidl &, Sil-—
Options:

1) teaches them good behaviour

I 3BT IdgR A g

2) values and uses their cultural and linguistic knowledge

ITch GiEhiceh 3R HINTE I i AT ST & TUT IJTehT SUINT il &

3) discourages the use of their language so that they learn the mainstream language
ITeh! {TST oh IUTNRT ehl BalcHTied Shedl & difch d JEIERT hl 9T HIE Teh

4) categorizes children based on their abilities

el hl ShT GAATSHT oh STYR W Jiflehd el &

Correct Answer: 2) values and uses their cultural and linguistic knowledge

ITeh Fikepfcen 3R HTNTE AT Sl Hed &dT & dUT ITehT IUTNT T &

Candidate Answer: 3) discourages the use of their language so that they learn the mainstream
language

JTehT HTHT o JUTNT i glcHTiod hedl ¢ dlich d JEIHRT hl HTNT Hika Tk

QID : 50 - A three-year old child explains that milk is produced by a machine at the milk booth.
Which one of the following offers the best explanation of the child's understanding?
Qeh i< HTel 1 ST<dT SdTa & foh g8 I IR Yk A gRT Y &1 ITe 8idT 8l

Aafafed 3 O a-a1 I & 9T H T8 ST WSIHUT UeTH hedT 82

Options:

1) The child has very limited exposure of the world.

T2 il g o1 aga AT SR/ 1

2) The child's answer is based on his/her experience of buying milk from the milk booth.
e T STATe g 9 ¥ g Wie oh 370 SN TR LT 81

3) The child has never seen cows.

g=3 3 Il ant aheft e A R

4) The child's family does not offer a stimulating environment to the child.

T} T URAR I<4 ohl UReh aTdTaRUT UeT gl hedTl

Correct Answer: 2) The child's answer is based on his/her experience of buying milk from the
milk booth.
e T STATe g 99 Y Y We o 370 W TR TR &1

Candidate Answer: 1) The child has very limited exposure of the world.

<2 )t g ot aga A s/ 81




QID : 51 - Which article of the Indian Constitution guarantees the right to equality?

YR T T ol T TG THHAT oh YRR i TRE T 82
Options:

1) Article 14

IS 14

2) Article 19

3ges 19

3) Article 21

ag%a 21
4) Article 32
YRT 32

Correct Answer: 1) Article 14

TG 14

Candidate Answer: 1) Article 14

IS 14

QID : 52 - Which of the following is not a fundamental right?

fAfofEa & @ o a1 Hifera SifdeR F81 82
Options:

1) Right to equality

AT T HATTRR

2) Right to freedom of speech and expression
HTYOT 3R SifHeafch Y TadaIdT S AfdRR

3) Right to property

Uy &1 MfIRR

4) Right to protection of life and personal liberty
Shta 3fiR cafhiTd Td=aT hl YREM I TR

Correct Answer: 3) Right to property
gt a1 SifdaR

Candidate Answer: 3) Right to property
Ul &1 MfIRR

QID : 53 - Which scheme provides food grains at subsidized rates to the economically weaker
sections of society in India?

I T TS IR H TATST & 3Nfefeh U T ASIR a1 ohl Ramrdt =i W @rerna Iuersy ! 872




Options:

1) Mid-Day Meal Scheme

TeTg WIS a1

2) Antyodaya Anna Yojana (AAY)

e 317 IisHT (TTATS)

3) National Food Security Mission (NFSM)

TET el GRaN AL (TTeweE)
4) Integrated Child Development Services (ICDS)

Qehtepdl aTeT fahrey Fard (SmEeiiEies)

Correct Answer: 1) Mid-Day Meal Scheme
HeTg WIS a1

Candidate Answer: 2) Antyodaya Anna Yojana (AAY)
SiNeH 317 FisHT (TTATS)

QID : 54 - The national average of child sex ratio (number of girl children per thousand boys) in the
country as per Census 2011 was

SRTOET 2011 o TR 327 H a7 i Srura (U TR gen! R sfohal &t ) a1 Ieta sfted
7|

Options:

1) 974

2) 924

3) 954

4) 914

Correct Answer: 4) 914

Candidate Answer: 2) 924

QID : 55 - The highest peak in India is:

IR &l g9 Sl =il &




Options:

1) Mount Everest
AT Yaie

2) Kangchenjunga
R

3) Nanda Devi

T et

4) Kanchenjunga
S

Correct Answer: 4) Kanchenjunga
. .

Candidate Answer: 1) Mount Everest

HISE TaRE

QID : 56 - India is divided into how many major physical divisions?
AR fehet v e @oel & ot 82

Options:

1)3

2)6

3)7

4)9

Correct Answer: 2) 6

Candidate Answer: 4) 9

QID : 57 - Who was the Viceroy of India at the time of the establishment of the Indian National
Congress?

IR TETT PRI hl RITIAT & THI AR ST GG i AT?
Options:

1) Lord Ripon
s Rua

2) Lord Lytton
e fere

3) Lord Canning
TS R

4) Lord Dufferin
ATE SHRA




Correct Answer: 4) Lord Dufferin

TS Sl

Candidate Answer: 3) Lord Canning

TS i

QID : 58 - At which railway station was Gandhiji thrown out of the bogie?
forT Yord Ra W wieft SfY ont ot & ameR then fom T am?
Options:

1) in Durban

R H

2) in Pretoria
feifar «

3) in Cape Town

IS H

4) in Pietermaritzburg

reeAfResrent &

Correct Answer: 4) in Pietermaritzburg

dreARestent

Candidate Answer: 4) in Pietermaritzburg

dreAfRestent

QID : 59 - When was the Muslim League formed?
A& T et 7T el gaT?

Options:

1)in 1916
1916 &
2)in 1910
1910 &
3)in 1912
1912
4)in 1906
1906 &

Correct Answer: 4) in 1906
1906 &

Candidate Answer: 4) in 1906
1906 #




QID : 60 - When was the first publication of Hind Swaraj?

&< TRTST &1 HUH USRI S gaT?
Options:

1) In 1912
1912 #
2)in 1915
1915%
3)in 1909
1909 &
4)in 1908
1908 &

Correct Answer: 3) in 1909
1909 &

Candidate Answer: 2) in 1915
1915%

QID : 61 - What kind of institutions did the non-cooperation movement present as an alternative?
STHGINT JicIer A fhd dAE oh TRATT chl RITYAT T fdehed T foham?
Options:

1) National

e
2) Regional
&g
3) provincial
Tid
4) religious

eTfHen

Correct Answer: 1) National

g

Candidate Answer: 1) National

g

QID : 62 - In which state did the Congress get an unexpected success in the elections of 1937?

1937 & TG # fohd 5T # il ol AUATIAT Thetd et off?




Options:

1) in Bihar
fogr &
2) in Tamil Nadu
afferrg A
3) in Maharashtra
HERIE H
4) in the United Provinces
HgH i A
Correct Answer: 4) in the United Provinces
TG il A

Candidate Answer: 1) in Bihar

fagr #

QID : 63 - What was the attitude of the Congress towards Britain in the Second World War?
fadita lisgagg A Site a1 fore & ufa 33T e @
Options:

1) Associate's
gt ot

2) opponent's
foRieft a1

3) neutral
dc¥] ol

4) none of these

1 9 fonelt a1t

Correct Answer: 2) opponent's

et &

Candidate Answer: 2) opponent's

feft &

QID : 64 - When was the first atomic bomb dropped?

U1 URATY] §H ehel RTAT 741?




Options:

1) On 6 August 1944
6 STTET 1944 i

2) on 6th August 1945

6 ST 1945 &t

3) 8 August 1944
8 3T 1944 @t

4) 8 August 1945

8 3N 1945 &t

Correct Answer: 2) on 6th August 1945
6 ST 1945 @t

Candidate Answer: 2) on 6th August 1945
6 STTET 1945 &t

QID : 65 - Which state is located to the west of Bihar?

@ a1 oy fogR & ofgm & fRa 82
Options:

1) Uttar Pradesh

TR T

2) Orissa

I

3) Arunachal Pradesh
SO UG

4) Nagaland

AN S

Correct Answer: 1) Uttar Pradesh
IR UEA

Candidate Answer: 1) Uttar Pradesh
IR T

QID : 66 - India is the second-largest producer of rice in the world after

VR ____ o 916 g-a1 # 91ad 3l GE%T 9o 981 STGH &




Options:

1) Indonesia
ESEIRC)

2) Japan
SlCIES

3) Malaysia
IR

4) China
o=

Correct Answer: 4) China

G

Candidate Answer: 4) China
EiG]

QID : 67 - Rice is a Kharif crop that requires high temperature (above 25°C) and high humidity with
annual rainfall above

ITTA Yok W T & foradh forg I=a aros (25°H @ JwR) ok 3= Sirdar ofiR Y FWR a1k qut
& 3MaLTehar gidl &1

Options:

1) 100 cm
100 9+t
2) 200 cm
200 T
3) 150 cm
150 9+t
4) 50 cm
50 I+

Correct Answer: 1) 100 cm

100 9+t

Candidate Answer: 3) 150 cm
150 St

QID : 68 - Jalpaiguri in is a major tea-producing district in India.

SAUTSTS! R & # Yo Wi 919 IATedh et g1




Options:

1) Karnataka
Ffch

2) Assam
qHH

3) West Bengal
gfgH e

4) Tamil Nadu

g

Correct Answer: 3) West Bengal

ufgy §rer

Candidate Answer: 2) Assam
JgH

QID : 69 - Which one of the following minerals is not obtained from the veins and loads ?
fAafafea 3 @ frg @fst &1 AR 8 v avf & gaifde Iare gidr 82
Options:

1) Tin
RIENETE
2) Zink
AT TR
3) Lead

lerge
4) Zypsum
FATESIEE

Correct Answer: 4) Zypsum

FIAIESTIEe

Candidate Answer: 1) Tin
LIERER

QID : 70 - Which of the following led to expansion of the fertiliser industry?

fr=fafed # @ frads swrur Iakes I &1 fawr gam?




Options:

1) Liberalisation and foreign direct investment
eI 3R Ter fageft faer

2) MNCs (multinational corporations)
T ot (Sgerta )

3) The Green Revolution

gRa wifa

4) All

gt

Correct Answer: 3) The Green Revolution

BRa wifd

Candidate Answer: 3) The Green Revolution

B ehifdl

QID : 71 - The unit of measurement of volume is-
I & 7Y &Y FTE 2
Options:

1) cm

g+t

2) square cm
aif gt

3) cubic cm

o gt

4) None of these

IS el

Correct Answer: 3) cubic cm
o Tt

Candidate Answer: 1) cm

a

QID : 72 - 21r (where r is the radius of the circle) is used to find the circumference of a circle. Here
is the value of T

g1 Sl aRfY &t ATd Az H 2 (ST8T r g <ht B @1) a1 IualT fohar Sirat 81 Jgf it sl 714 81




Options:

1)3.14
3.14
2)31.4
31.4
3)0.314
0.314
4) 314
314

Correct Answer: 1) 3.14
3.14

Candidate Answer: 1) 3.14
3.14

QID : 73 - The shape of marble is similar to ——

Options:

1) cuboid
CEIk]

2) Circle
e

3) Cone
I

4) volume
S

Correct Answer: 1) cuboid
AT

Candidate Answer: 4) volume
SdA

QID : 74 - If we rotate a right angled triangle of height 5 cm and base 3 cm about its height a full

turn, we get

gfe g9 5 Tt SaTs SR YR 3 T ATt Yeh THehI0T FAYST ol ITeh! HaTs & URd: Toh U1 Tahe gAY, ot

8} . PiereT &




Options:

1) cone of height 5 cm, base diameter 3 cm
i I SaTs 5 Y, STYR e 3 FH

2) triangle of height 5 cm, base diameter 3 cm
gt h Sarg 5 9, SR s 3 I

3) cone of height 5 cm, base diameter 6 cm
i I SaT8 5 Y, STYR AT 6 T+

4) triangle of height 5 cm, base diameter 6 cm

g I Farg 5 9, SR S 6 I

Correct Answer: 3) cone of height 5 cm, base diameter 6 cm

*iep T HaTS 5 T, YR AT 6 Tt

Candidate Answer: 3) cone of height 5 cm, base diameter 6 cm

i I SaTs 5 Y, STYR AT 6 T

QID : 75 - What cross-section do you get when you give a vertical cut to a round apple?

STE 3T Yok e A i HEATER e &d & df SATURT I AT I HIe Berdr 82
Options:

1) circle
gch

2) Triangle
[ECaW

3) Square
it

4) rectangle
S

Correct Answer: 1) circle
Tch

Candidate Answer: 2) Triangle

frentor

QID : 76 - The highest common multiple of 16 and 64 will be-

16 3R 64 <Al HgH JHTUG<IH G-




Options:

1) 16
16

2) 32
32

3) 64
64

4) 1024
1024

Correct Answer: 1) 16
16

Candidate Answer: 1) 16
16

QID : 77 - How much will be added to 58 to get 100?

58 ¥ fohaqT @™ W= 100 uTed ghT-
Options:

1) 52
52
2) 42
42
3)32
32
4) 48
48

Correct Answer: 2) 42
42

Candidate Answer: 2) 42
42

QID : 78 - Sum of two Positive number is always :

&Y YT GRS T AT gART g &




Options:

1) Negative

hRIcHh
2) Positive
HhRIcHh
3)1
1
4)0

0

Correct Answer: 2) Positive
HhRIcHD

Candidate Answer: 2) Positive
HhRIcHh

QID:79- 15+1/5+1/25
15+1/5+1/25
Options:

1) 62.77
62.77

2) 20.24
20.24
3) 15.24
15.24
4) 8238
82.8

Correct Answer: 3) 15.24
15.24

Candidate Answer: 3) 15.24
15.24

QID:80-(-56) —34="

(-56)-34 = ?




Options:

1)-95
-95
2)-90
-90
3)-80
-80
4)-70
-70

Correct Answer: 2) -90
-90

Candidate Answer: 2) -90
-90

QID : 81 - How many factors does a Prime number have?
Teh ST AT o fohdH UHEE 8id 87
Options:

01
.
2)2
2
3)3
3
4)4
4

Correct Answer: 2) 2
2

Candidate Answer: 1) 1
]

QID : 82 - A truck has 673 boxes of candies. Each box has a dozen candies in it. What is the total
number of candies on the truck?

Ueh ¢ A hal & 673 e €1 udeh feead # Uah i hsl €1 2oh R hel ohl Tt T fohdHt 82




Options:

1) 8076

8076

2) 8067

8067

3) 8066

8066

4) 8077

8077

Correct Answer: 1) 8076
8076

Candidate Answer: 1) 8076
8076

QID : 83 - A tabletop measures 2 m 25 cm by 1 m 50 cm. What is the perimeter of the tabletop?

Ueh oty &t ATg 2 Hiex 25 It x 1 Hiex 50 It &1 ety i aRkfS o g2
Options:

1)7.5m

7.5

2) .75m

.75%

3) 75m

75+

4) None 0f these

9 @ i el

Correct Answer: 1) 7.5m
7.5

Candidate Answer: 3) 75m
75+

QID : 84 - Two angles of a triangle measure 35 degrees and 65 degrees. What is the measure of
the third angle of the triangle?

Qe et & &l ahior 35 fUft 3R 65 f&ft & gid &1 AT o 1R ehior <t /7T R 82




Options:

1) 100 degrees
100 feft

2) 120 degrees
120 feuit

3) 80 degrees
80 fift

4) 90 degrees
90 feift

Correct Answer: 3) 80 degrees

80 feift

Candidate Answer: 3) 80 degrees
80 feuft

QID : 85 - Which of the following types of motion is not exhibited by the earth moving around the
sun?

2 & T iR et g et PR # @ R weR Y R wrafife T et 22
Options:

1) Circular

gxilehR
2) Rotational

off

3) Rectilinear
Hter

4) Periodic
raferen

Correct Answer: 3) Rectilinear

iem

Candidate Answer: 4) Periodic

3Teferen

QID : 86 - What is the value of 15 kg 465 g in gram-—

15 fohelt 465 UTH ohT Hed UTH H T g




Options:

1) 15465 g
15465 T
2) 15455 g
15455 T
3) 15466 g
15466 T
4) 15445 g
15445 T

Correct Answer: 1) 15465¢g
15465 7™

Candidate Answer: 1) 15465¢g
15465 aH

QID : 87 - P can do % of a work in 10 days; Q can do 40% of the work in 15 days and R can do 1/3
of the work in 13 days. Who will complete the work first?

P fereit &hmd et % 9177 10 foT H GRT &R GehelT 8; Q 40% oA 15 ot | e e 8 $IR R 1/3 @A 13 feat |
T GehdT & | T Uget il GIT haT?

Options:

1)P

P

2)Q

Q

3)R

R

4) P and R both
P 3R R AT

Correct Answer: 2) Q
Q

Candidate Answer: 2) Q
Q

QID : 88 - A farmer has enough food to feed 30 animals in his cattle’s for 6 day how long would the
food last if there were 12 more animals in his cattle’s?

U fohare & U o1g+ 7 # 30 SRt @t 6 it des fem & forg vaf oo ¢ afe 3ad mafmt &
12 3R SR g al Wisi fohas 97 dep Iavm?




Options:

1)14
14
2) 12
12
3)15
15
4)13
13

Correct Answer: 3) 15
15

Candidate Answer: 2) 12
12

QID : 89 - If the Length, Breadth, and Height of a Cuboid are in the Ratio 6 : 5: 4 and the Total
Surface Area of the Cuboid is 33300 cm2. What is the Breadth of the Cuboid?

& Qo g1 i oS, TSTE R SaTE AT SIgUTd 6:5:4 ¢ SR T4 T FooT JSO1T @thet 33300 FHI2 &1
g1 Y TS fohat 82

Options:

1)95cm
95 Tt
2)25cm
25 gt
3) 55cm
55 9t
4)75cm
75 Tt

Correct Answer: 4) 75cm

75 9+t

Candidate Answer: 2) 25cm
25 9+

QID : 90 - Which of the following is the probability of an impossible event?

fAafafaa & @ w9 ) e sy gedT it GuraHr g2




Options:

11

]

2)0

0

3) Between 0 and 1
03R1Fd=

4) None of these

&9 9 g el

Correct Answer: 2) 0
0

Candidate Answer: 4) None of these

&9 A IS 81

QID:91-_____ isnot a triangular number.
___ o Bl g gl 8l
Options:

1)7
7
2) 6
6
3)10
10
4)3
3

Correct Answer: 1) 7
7

Candidate Answer: 1) 7
7

QID : 92 - A square is formed by sum of two

o A & o @ ST




Options:

1) Natural numbers

TTepfareh Ty

2) Consecutive Natural numbers
TR UTehfceh Tw&ATg
3) Alternate Natural numbers

N ——

4) Consecutive Whole numbers
AR gof dw@ag

Correct Answer: 2) Consecutive Natural numbers

.

Candidate Answer: 1) Natural numbers

TTepfereh EEATd

QID : 93 - The number comes next in the series 12, 36, 109, 329, ... -
ST B ST &R 377 & 12, 36, 109, 329,... -

Options:

1) 900

900

2) 990

990

3) 890

890

4) None of the these

g8 g ohig ol gl

Correct Answer: 2) 990
990

Candidate Answer: 4) None of the these

T 9 hig ot el

QID : 94 - Zayn bought tickets to concert for Rs. 1700. He wants to sell them at a profit of 22%.
What is the selling price of tickets?

S A IGE & {7 1700.393 # feehe @RS | 98 I8 22% o AT TR =1 =rgdl & | feanel ot fasha gea
8?




Options:

1) Rs.1750
1750 %
2) Rs.2074
2074%
3) Rs.1700
1700 %
4) Rs.1800
1800 %

Correct Answer: 2) Rs.2074
20743

Candidate Answer: 2) Rs.2074
20743

QID : 95 - In triangle PQR, 2 P = 55° and QR = 18 cm . In which of the following cases, APQR can be
an obtuse scalene triangle?

13T PQR #, 2 P = 55° 3R QR = 18 cm.fAw ffcrat # @ fad APQR e 3ifareh ot fawmag Brgst 8t
GepdT 87

Options:

1) «R=15"and PR > 18 cm
2R=15° 3R PR > 18 cm
2) £R=65"and PQ > 18 cm
2R=65" 3R PQ >18 cm
3) 2R=35"and PR=18 cm
2R=35° 3R PR =18 cm
4) LR=25"and PQ =18 cm
2R=25" 3R PQ =18 cm

Correct Answer: 1) «R=15"and PR>18 cm
2R=15"3RPR>18 cm

Candidate Answer: 3) 2R=35"and PR=18 cm
£<R=35°3RPR=18cm

QID : 96 - x varies inversely as y. When x=3.5, then y=2.4 . What is the value of y when x=5.6?

X, Y o AT GShATIUTC [deRUT T g1 T x = 3.58, ATy = 2.4 &1 ST x = 5.6 &, dd y T A T IT?




Options:

1)1.5
15
2) 2.1
2.1
3)2.8
2.8
4)1.4
1.4

Correct Answer: 1) 1.5
1.5

Candidate Answer: 3) 2.8
2.8

QID : 97 - The area of a rectangle whose sides are 176 cm and 56 cm is equal to the area of a
circle. What is the circumference (in cm) of the circle ? (Take Tt = 22/7)

foreft S a1 @Fthet , fSITTehRT ofTTd 176 cm 3R 56 cm &, U g1 & &1thel o aRTeR g1 g ahl aRkfd (cm
#) g (n=22/7A™)

Options:

1) 396
396
2) 352
352
3) 440
440
4) 308
308

Correct Answer: 2) 352
352

Candidate Answer: 2) 352
352

QID : 98 - The number of edges of a polyhedron, which has 7 faces and 10 vertices, is

foreit sIgtheten & 7 theteh 3R 10 2fi &1 39 aIgtheteh o fhaRT <t T &




Options:

1)13
13
2) 14
14
3)15
15
417
17

Correct Answer: 3) 15
15

Candidate Answer: 2) 14
14

QID : 99 - A geometric representation, showing the relationship between a whole and its part, is -
ST fAegoT, STt QR $fR 36 sitr & ot ey i@ g, 8-
Options:

1) histogram
e
2) pie chart

oré =
3) bar graph
TUE 3T

4) pictograph
IBEGEC

Correct Answer: 2) pie chart

oré =

Candidate Answer: 4) pictograph
IBECEC]

QID : 100 - Remedial teaching is helpful for -

SUARIH fARTOT gRIeh &-




Options:

1) teaching the whole class

70 el Y e & forg

2) recapitulating the lesson

T8 Y GRIfA o forg

3) teaching in play-way method

@At fafd grr fremor & forg

4) removing learning difficulties of weak students

FHASIR BT Y Wa Fi HfEATEal o ¥ A & forg

Correct Answer: 4) removing learning difficulties of weak students

FHHSIR BT hl Ha- &l HfSATEal Bl T A & fag

Candidate Answer: 4) removing learning difficulties of weak students

HASIR BN chl WG & hiST8al bl X e & felg

QID : 101 - Pick the odd one out.
Jiet
Options:

1) Advocate
Fehtel
2) Potter

PBR

3) Farmer
fham

4) Fisherman

HYSRT

Correct Answer: 1) Advocate

Fehlel

Candidate Answer: 1) Advocate

ehlet

QID : 102 - Medium sized plants are called

AYH IRR & NY hgad &




Options:

1) shrubs
rfear

2) none of these
g4 O I et

3) climbers

REGINE]

4) creepers

<1dig

Correct Answer: 1) shrubs

grfear

Candidate Answer: 1) shrubs

EIIEE]

QID:103- use animals such as bullocks to plough their fields
Options:

1) doctors
glaR

2) soldier
4

3) farmers
foram

4) teacher
freren

Correct Answer: 3) farmers

foram

Candidate Answer: 3) farmers

foram=

QID : 104 - silkworm can find its female by its :-

M 1T YT ATET Pl §HF GRT §& Tohd &.--




Options:

1) Smell.

Ty

2) Sound.

&t

3) Colour.

ar

4) All of these.
goft

Correct Answer: 1) Smell.
Ty

Candidate Answer: 1) Smell.
Ty

QID : 105 - What is our National Animal?
EHRT AL U] T 82
Options:

1) Lion.
fi

2) Tiger
g

3) Leopard
dgarm

4) Elephant
greft

Correct Answer: 2) Tiger
7

Candidate Answer: 2) Tiger
ClRl

QID : 106 - What do we call a person who reports news on TV, radio or Newspaper?

1 39 Afth &l AT hgd & o) A1, 2t a1 TR uF R IHER Rl ehedr 82




Options:

1) Journalist

EECIN

2) Teacher

freren

3) Manager

Uit

4) Business Person

IESERACRE]

Correct Answer: 1) Journalist
EECIK

Candidate Answer: 1) Journalist
UAhR

QID : 107 -. A: Occupation earns you living. B: Occupation and work are similar.
U a9 T 3TUeh! Stifdepiarsi— fAedar g1
Options:

1) Both A and B are correct.
JITT 3R hrd T 8

2) Both A and B are incorrect
T 3R ff &1 gt &

3) Only A is correct.
EEEREE

4) Only B is correct.

had s Tgt gl

Correct Answer: 3) Only A is correct.

had T gl gl

Candidate Answer: 3) Only A is correct.

thael T 9gl 81

QID : 108 - Select the incorrect match.

TTAd fAT <hT = e




Options:

1) Postman - Delivers letters

gifohar - oo faaRa a8

2) Cobbler — Mends shoes

Tl - S Yo oher B

3) Teacher — Maintains law and order
fRV&1eh - I SR HeawAT S T &
4) Nurse - Treats people who areill.

Y - AR AN T ST St B

Correct Answer: 3) Teacher — Maintains law and order
fRr&1eh - ST SR I TG T 8

Candidate Answer: 3) Teacher — Maintains law and order
fr&1eh - S SR ST TG T 8

QID : 109 - Why should we not eat junk food?
&4 Sieh s ot =gt @ =fRy?
Options:

1) Good for health.
Wy & T 3T 8.

2) Not good for health
ey & AT 3T T8l &
3) Give us energy.

& ot &t 21

4) All of these.

goft

Correct Answer: 2) Not good for health
Wy & fou sre1 gl 8

Candidate Answer: 2) Not good for health
@ & g sreeT 781 &

QID : 110 - Which one of the following matches is not a correct way of food preservation?

fr=fafed & @ o a1 A @rer TRevr a1 Fet aden T8 62




Options:

1) potato-chips

3Te] o o

2) milk-paneer

TU-THR

3) apple-jam
qq-o

4) raw-mango-pickle
e TH Pl AR

Correct Answer: 2) milk-paneer

FURSEIN

Candidate Answer: 2) milk-paneer
TY-TAR

QID : 111 - Glass jars and bottles are dried well in the sun before filling them with pickles. Why is it
s0?

i o SR 3R Fidel Sl SR T WA & Uget gU H 3=t g @T Si1dl & | 4T =i 82

Options:
1) to increase their temperature
IR dTUH de™ & foaw
2) to remove the dust from them
379 Y& g & fog
3) to remove the moisture completely
Tt @t O =g ¥ g & forg
4) to make pickles tasty
SR hl WICE s & fod
Correct Answer: 3) to remove the moisture completely
Tt ot O A%E © g o forg
Candidate Answer: 3) to remove the moisture completely
T+t @t O =g ¥ g & forg

QID : 112 - Some of them are grown in the winter season called...................




Options:

1) Kharif crops
ECRijt

2) Rabi season
Tl

3) both

G

4) none of these

ESEEETSE ]

Correct Answer: 2) Rabi season

L&l

Candidate Answer: 2) Rabi season

Gl

QID : 113 - Nutrients are:
Y dd &:
Options:

1) Substances which nourish the body and are also used to get energy for a body.

3 geTef ST RR ot 9iWoT & & 3R RR &l it UTed et oh forg off Iuai fong 1t €1

2) Substances which the body uses to make chemical reactions occur throughout the body
systems

3 uaref fSie7ent ITTT R dqut SRR yonferat # Iemafes ufafehard st o forg sear 81

3) Chemicals which aid in the function of muscles and organs in the body.

TG St R H A0t SR ot & o # "gradr aed g

4) All of these

goft

Correct Answer: 1) Substances which nourish the body and are also used to get energy for a
body.
T ueTef ST R Rl Tiuur 3 € SR R i Feil U A o forg oft ST fahg ma €1

Candidate Answer: 4) All of these
goft

QID : 114 - Which food group is composed of high fibre foods like granola, whole wheat bread, and
oatmeal?

I T WTel g T, T g I 518 3R aferdn S8 =0 WigeR @rel uard! 9 941 872




Options:

1) Grains

SAST

2) Meats and beans
A9 R aH

3) Vegetables
gfesrat

4) None of these

&9 9 g el

Correct Answer: 1) Grains
STATST

Candidate Answer: 1) Grains
SAST

QID : 115 - What is the main source of water on the earth?
gt TR STeT ol & Hid T 872
Options:

1) Rain.
FTRar.
2) River
T

3) Pond
GISIC
4) Lake.

it

Correct Answer: 1) Rain.

FTfRar.

Candidate Answer: 2) River

&

QID : 116 - Who was the first woman to conquer Everest?

T Thlg e aTell Ugelt Afge et oft?




Options:

1) Bachendri Pal.
CEHRICH

2) Sunita Williams.
gtar faferam

3) Kalpana Chawla
heY-T dTdell

4) Mary com.
RGO

Correct Answer: 1) Bachendri Pal.

EEJARIG]

Candidate Answer: 1) Bachendri Pal.

EEJRIG]

QID : 117 - In which era did the Qutub Shahi sultans rule?
Fdd e Gt A fohe g & e foar om?
Options:

1) 1518 to 1687.
1518 & 1687 dahl
2) 1700 to 1760.
1700 & 1760 dch
3) 1410 to 1490.
1410 § 1490 dh
4) 1805 to 1850.
1410 & 1490 dh

Correct Answer: 1) 1518 to 1687.
1518 ¥ 1687 dsh|

Candidate Answer: 3) 1410 to 1490.
1410 & 1490 deh

QID : 118 - Railway passenger coaches are manufactured at

I I3 fealt et fAmfor fohan sar &




Options:

1) Varanasi
IRTOTE

2) Chittaranjan
IEGESE

3) Perambur

TR

4) Kolkata
CAGEAG]

Correct Answer: 3) Perambur

R

Candidate Answer: 3) Perambur

WFR

QID : 119 - Which one of the following is located in the Bastar region?
el 7 @ ol o TR &7 & [T 82
Options:

1) Bandhavgarh National Park
SiiYaTe AL e

2) Dandeli Sanctuary

Tieett SR

3) Rajaji National Park
RTSTTSH AT e

4) Indravati National Park
el AET SEr

Correct Answer: 4) Indravati National Park

garad e I

Candidate Answer: 3) Rajaji National Park
RTSTTSI AE e

QID : 120 - Find the odd one out.

ggfass |




Options:

1) Rakesh Sharma
7ehar <rAf

2) Kalpana Chawla
Sheu T FTdell

3) Bachendri Pal
CEHRIC]

4) Sunita Williams
gt faferas

Correct Answer: 3) Bachendri Pal

EEJARIG]

Candidate Answer: 1) Rakesh Sharma

har At

QID : 121 - Bachendri Pal is the first woman mountaineer to climb

ISE U TR T aTell Ugel! Afgel UadRig! 8|
Options:

1) Nanda Devi

ey &t

2) K2

&2

3) kanchanjangha
SO

4) Mount Everest

AN Q&

Correct Answer: 4) Mount Everest

AN Q&

Candidate Answer: 3) kanchanjangha
..

QID : 122 - Which of the following vehicles is most fuel efficient?

fr=fafed & @ o a1 e aa srfdes Su e 82




Options:

1) Vehicle with 32 kin/hour mileage
32 feheiiHiieR / ©d &Y Agelst aretl atg
2) Vehicle with 22 km/hour mileage
22 feret/ser &t ATseST arer argA

3) Vehicle with 18 km/hour mileage
18 femet/€ieT <hY ATSelsT aretl arg

4) Vehicle with 5 km/hour mileage
5 foheil/ €T ht ATS ST aTert argd

Correct Answer: 1) Vehicle with 32 kin/hour mileage

32 fraiiHiex / € &l A8 areT argd

Candidate Answer: 1) Vehicle with 32 kin/hour mileage

32 foreiiieR / €2 Y ATgST aTeT g

QID : 123 - Which of the following are the primary causes of water pollution?

ffefEa d @ 9 91 ST uguuT & uTufies R §?
Options:

1) Plants

arg

2) Animals

31

3) Human activities
AFE Tfafafdat

4) None of these

9 9 i el

Correct Answer: 3) Human activities

Ay fafafeat

Candidate Answer: 3) Human activities

At fafafeat

QID : 124 - Which of the following aquatic plants are used by humans as a food source?

ffefea 7 3 forg Stefta W &1 IUTRT 7% 9IS Hid & &9 F dear 872




Options:

1) Water spinach
U uTeieh

2) Indian lotus
YR AT

3) Water caltrop
fRemet

4) All of these

T ot

Correct Answer: 4) All of these

T goft

Candidate Answer: 1) Water spinach

T UTeTeh

QID : 125 - How much water on earth is available for drinking?
gedt iR Ui & forg foa= urht Suereyr 872
Options:

1) 95%
0.95
2) 26%
0.26
3)1%
0.01

4) 2%
0.02

Correct Answer: 3) 1%
0.01

Candidate Answer: 4) 2%
0.02

QID : 126 - People obtain groundwater through and

T 3R % HTEH T ST UT &hed & |




Options:

1) wells and tube wells
2) taps and rains

T 3R aTRar

3) rivers and sea
At ok T

4) ponds and oceans
AT 3R AR

Correct Answer: 1) wells and tube wells

Y SR e

Candidate Answer: 1) wells and tube wells

Y SR e

QID : 127 - Why is crop rotation necessary?
YA Tch T STk §?
Options:

1) To increase the fertility of soil

S 1 IRelT ST & g

2) To increase the quantity of minerals
@Sl i AT IgH & folg

3) To reduce the quantity of proteins
UIE Y AT A A h folg

4) To plough various types of crops

fafH= UehR <Al HEell chl S[ATS ehAT

Correct Answer: 1) To increase the fertility of soil

fAg) &t IRar s & fag

Candidate Answer: 1) To increase the fertility of soil

fAgY <hl IeRaT FIgT & ferg

QID : 128 - Black soils are ideal for cultivation of cotton as

el g sure Y @t & forg amesf gt @




Options:

1) Their colour are black
ST T hTeTl &

2) They can retain moisture

T Tt SRR TG hd &

3) They are made of lava
BEICIECER

4) They are found on plateau regions

T USRY &A1 § ue S 8

Correct Answer: 2) They can retain moisture

T THY SRAIR TG Ghd &

Candidate Answer: 2) They can retain moisture

3 T SRR @ Gehd &

QID : 129 - What effect on the formation of grasslands?

o1 & AeEl & FAHfor R @ar gere ugar 82
Options:

1) Soil

et

2) Weather

Had

3) Soil and Weather
gt ofk Hiaw et
4) None of these

9 9 i el

Correct Answer: 3) Soil and Weather

gt ok Hiaw gt

Candidate Answer: 1) Soil

et

QID : 130 - What are the adaptations for mountain animals?

TR ST o foIg S1gher 1 82




Options:

1) Hibernation

fta

2) Migration to warmer area

TH &3 Y 3R e

3) insulating their bodies with a layer of fat and furs
ITch SRR I TET 3R TR I Ra T GRfard 7@

4) All of the these

g gt

Correct Answer: 4) All of the these

T goft

Candidate Answer: 3) insulating their bodies with a layer of fat and furs

3Tch SRR T I9T 3R TR I IRa T TR T

QID : 131 - Below are the names of some animals.

(i) Cow
(i) Sheep
(i) Horse
(iv) Ox

Which of the above are sources of milk for human beings?
FS el & 9 ey Y §)

(i) T
(i) %5
(iii) =eT
(iv) st
A 9 P A7 & folg g4 & Hid 872

Options:

1) (i) and (iii)
(i) 3T (i)

2) (i) and (ii)
(i) 3R (ii)

3) (i) and (iii)
(ii) 3R (iii)

4) (iii) and (iv)
(iii) 3R (iv)

Correct Answer: 2) (i) and (i)
(i) SR (i)

Candidate Answer: 2) (i) and (ii)
(i) SR (i)




QID : 132 - The repeated washing of pulses and rice might remove:
S[A-ITa ht TR-IR 91 & G 81 Tohd &
Options:

1) Vitamins

IEEIEES

2) Minerals

eIEN]
3)Bothaandb
faafa= sik @fAw gt
4) None of these

9 A IS 81

Correct Answer: 3) Bothaandb

frafem ok @l q=t

Candidate Answer: 1) Vitamins

IECIEE]

QID : 133 - Which of the following materials is transparent?

fFafofEa & @ o Ot 9l oResff &2
Options:

1) Stainless steel plate
R €I wie

2) Glass tumbler
&ia o e

3) Mirror

ggur

4) Plastic bottle
AT <hl Sl

Correct Answer: 2) Glass tumbler

g T

Candidate Answer: 2) Glass tumbler

i o e

QID : 134 - Which of the following is soft?

9 G T RH 8?




Options:

1) Iron
st

2) Wood
SEE]

3) Cotton
At IES]

4) Stone
TR

Correct Answer: 3) Cotton
CatIEs]

Candidate Answer: 3) Cotton
I

QID : 135 - An oily thin paper sheet will be
Ueh deitg gdet! STt aht &ffe ghft —-
Options:

1) transparent

grRasff

2) translucent

qRHATH

3) opaque

JrRaxff

4) cannot be predicted
IATT TE1 ST TehdT

Correct Answer: 2) translucent

TRYTET

Candidate Answer: 3) opaque
JuResft

QID : 136 - Binomial nomenclature was given by

feue AmenoT fohaeh g1 feam mar um?




Options:

1) Linnaeus
forferg

2) Hugo De Vries
RUEEE]

3) John Ray
CIEEY

4) Huxley
g

Correct Answer: 1) Linnaeus

faferg

Candidate Answer: 2) Hugo De Vries
RUEEIE]

Options:

1) Species
U]

2) Sub-species
Y-t

3) Genus

St

4) Class

i

Correct Answer: 3) Genus

STfar

Candidate Answer: 1) Species

TSIt

QID : 138 - The movement of leaves, roots, etc., of a plant in response to external stimuli such as

light and gravity is called __.

RIS IR TEATehUT SiEt STgdt Iaeirad eht uffehar # foneht die &t uftat, Sist enfe dhr ifa st arat

SIGIEL




Options:

1) Response
UG

2) Tropism
giftrem

3) Stimulus

mare

4) None of these

19 9 &IS el

Correct Answer: 2) Tropism

giforem

Candidate Answer: 1) Response

A

QID : 139 - Earthworms breathe through their ___

Yo g §?
Options:

1) Fins
A 49
2) Blowholes

g
3) Grills
TethY
4) Skin
=

Correct Answer: 4) Skin
CEll

Candidate Answer: 4) Skin
T

QID : 140 - In respiration , animals breathe in

I H, SR gaT

?
of the air and breathe out ?
TR IR AS g ofR...... A aTER Bisa 82




Options:

1) Oxygen, Carbon dioxide
TR, e STEHTFITEE
2) Carbon dioxide , Oxygen
RIe STSIHTFATSS, SiTeRitoTT
3) Hydrogen, Oxygen
HESISRRCICSISE]

4) Hydrogen, Carbon dioxide
BISSISH, e ST33HTIATSS

Correct Answer: 1) Oxygen, Carbon dioxide

ITFIST, T STSATFITSE

Candidate Answer: 1) Oxygen, Carbon dioxide

3Tl oT, 1T SIg3i eSS

QID : 141 - In which year, the SI system was recommended by general conference of weights and
measures?

fhe g, go7 3R A1 & T TR GRT THSATS YUTTel! Shl FRTier &t g oft?
Options:

1) 1950
1950
2) 1960
1960
3) 1970
1970
4) 1980
1980

Correct Answer: 2) 1960
1960

Candidate Answer: 2) 1960
1960

QID : 142 - A combination of two or more electric cells is called

AT AAn g A hTaloH A SISt gl




Options:

1) Electric circuit

faega uRkoy

2) Battery

et

3) Terminals
Zffa

4) None of these

&9 9 g el

Correct Answer: 2) Battery

Cradl

Candidate Answer: 1) Electric circuit

fagd aRuy

QID : 143 - —————is an energy which flows in an electric circuit.
—emeeme Y STt § o) fELd Ry & yarfea gt 81
Options:

1) Electric circuit

gelfareeh Ffche

2) Electromagnet

feregd grreh

3) Electric current

[EEGRECI

4) None of these.

A T IS 8T

Correct Answer: 3) Electric current

faera vare

Candidate Answer: 1) Electric circuit

geifage Afche

QID : 144 - An electric cell produces electricity from the stored inside it.

Qeh farggd deT 7o SieR dufed @ gl I shean 81




Options:

1) Current
YRT

2) Energy
Sl

3) Chemicals
ESIRE]

4) Light
TehTRT

Correct Answer: 3) Chemicals
ESIRE)

Candidate Answer: 2) Energy
St

QID : 145 - Which of the following in a ship helps to move it in the right direction?
& greh St 912 T & 91 10T Yreiched 0T @Y 3 &, ShgerTd &
Options:

1) A thermometer
Tt gah

2) A speedometer
St gk

3) An anchor

T fes gah

4) A compass

dAlsw=

Correct Answer: 2) A speedometer

St ga

Candidate Answer: 2) A speedometer

et gad

QID : 146 - When a glass rod is rubbed with a piece of silk cloth then:

gt sl Wi ht 71t ST RIROT T 82




Options:

1) The glass rod and silk cloth both acquire positive charge.
Tehdld

2) The glass rod becomes positively charged while the silk cloth has a negative charge

forsTeft T m T
3) The glass rod and silk cloth both acquire negative charge.

Yoy

4) The glass rod becomes negatively charged while the silk cloth has a positive charge

TRST & I guf

Correct Answer: 3) The glass rod and silk cloth both acquire negative charge.
Yehu

Candidate Answer: 1) The glass rod and silk cloth both acquire positive charge.
Tehdld

QID : 147 - When an object gets negatively charged by the process of friction then:
JehT o IRUT &1 Tehd! &
Options:

1) The object loses some electrons

AT, &g SR a1g

2) The object loses some protons
G SR afgd

3) The object gains some electrons
4) The object gains some protons

16 3R dfed

Correct Answer: 1) The object loses some electrons

GATHI, e 3R a1g

Candidate Answer: 1) The object loses some electrons

AT, &g SR a1g

QID : 148 - To protect tall buildings from the damage of lightning, what can be done?

St Rl ot afsa i erfa & s & forg o fevan ST geRar 82




Options:

1) Not to build tall buildings

2) Install lightning conductors

afsa areres wfud &R

3) Install many TV antennas

Hg 1t e =fd &

4) Have a rooftop garden with tall trees

& Ut areft ®a R sftar gt

Correct Answer: 2) Install lightning conductors

afsa areres @fud

Candidate Answer: 1) Not to build tall buildings

QID : 149 - Which of the following is the largest reservoir of potable water?
fA=fafEa § @ i ot gl o1 9e 981 WSR i a1 §?
Options:

1) Ocean water
HENR &l Ut
2) Groundwater

Holet

3) River water
& o1 Ut
4) None of these

9 9 i el

Correct Answer: 2) Groundwater

YoleT

Candidate Answer: 2) Groundwater

YoleT

QID : 150 - Which of the following indicates the presence of groundwater in the soil?

fr=fafed § @ o A F e H U =t 3 wear &2




Options:

1) Moisture
Tt

2) Wetness
e

3) Both Moisture and Wetness

U 9 31fde et g
4) None of these

&9 9 g el

Correct Answer: 3) Both Moisture and Wetness

T & e Tel §

Candidate Answer: 3) Both Moisture and Wetness

T 9 3iferes dgt 6




